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B. FALSE 

Answer: A 

QUESTION: 37 
If the activity “Rework” in a process is performed by both “ Reworkers” and “Assembly 
Operators”, then: 

A. create a separate process for each and link the process back to the higher level process. 
B. duplicate the activity in both the Reworker swimlane and the Assembly Operator swimlane. 
C. use a nested process in order to create two participant swimlanes for that activity and then 
assign the task to the first available participant. 
D. choose the group that is ultimately responsible for the rework and if both parties are 
responsible, then create a swimlane that includes both participants. 

Answer: D 

QUESTION: 38 

Based on IBM BPM Blueprint best practices, how does the decomposition of a process begin?
 

A. Mapping out the expected path (happy path) of the process first 
B. Mapping out the expected path (happy path) and a few other exception paths alongside. 
C. Mapping out all the paths simultaneously so that that the subject matter experts do not lose the 
train of thought. 
D. Mapping out the exceptions first because mapping out the expected path (happy path) is easy 
and can be done any time 

Answer: A 

QUESTION: 39 
A leading low cost airline, used to have a strong customer relationship. Because of cost cutting 
measures, it has lost the relationship which once existed. Negative media reports about the 
customer service were brought to the attention of the Senior Vice-President of customer relations 
who desperately wants to regain the customer relationship, but does not know where to start. 
What must be the Vice-President’s logical sequence of activities? 

17



 
 

 
 

 
 

 

 

 
 

 
 

 
 

 
 

 
 

 
 

A. 1. Develop a goal statement 
2. Identify the problem 
3. Form a BPM Core Team 
4. Discover and map the current process 
5. Analyze and improve the process 
B. 1. Form a BPM Core Team 
2. Identify the problem 
3. Discover and map the current process 
4. Develop a goal statement 
5. Analyze and improve the process 
C. 1. From a BPM Core Team 
2. Develop a goal statement 
3. Discover and map the current process 
4. Identify the problem 
5. Analyze and improve the process 
D. 1. Develop a goal statement 
2. Form a BPM Core Team 
3. Identify the problem and brainstorm solutions to solve the problem 
4. Discover and map the current process 
5. Analyze and improve the process 

Answer: D 

QUESTION: 40 

The “tolerance interval” in the intermediate time event is used to: 


A. specify an additional delay if the work is in progress 
B. build in a certain level of tolerable inefficiency into the process 
C. take into account weekends, holidays and other task downtimes 
D. specify an additional delay irrespective of whether the work is in progress or not 

Answer: A 
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